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63. D is a 3-digit number such that the ratio 63. D U® a9 3F! I W& 39 UPR ¢, &
of the number to the sum of its digits is least. TWIT BT ITP P & AT F AU YAdH
What is the difference between the digit at Bl 21 P23 & WH W 3P AR HE &
the hundred'’s place and the digit at the unit's W UID ® AP P AT AT ﬁm‘—né ?

placeof D? UPSC PT 2023
a) 0 a) 0
b) 7 b) 7
c) 8 c) 8

d 9 d) 9




73. A box contains 14 black balls, 20 blue balls, 26 73. f&dl f&& # 14 Frelt 748, 20 Hielt 71, 26 78 7S,
green balls, 28 yellow balls, 38 red balls and 54 28 Wielt 7€, 38 @& S X 54 g 7S B
white balls. Consider the following statements: FufafEs sy=1 « AR Iifow:

1. Th I ber h th balls 1.3t 2 & aefs =0 A At n A2
e A ey A e R S st e

full group of at least one colour is 175. O Jaxg g, dl n Bt H@IT 175 2!

2. Th llest number h that any m balls 2. 3f¢ 3= | grefs® =u Hl m e 39 TSR
dr:w;mafroel:tth: box r:l‘\ds:lcnlytm;s: cyontainaa: et o & I B gg m-ﬁ-m‘g'a g

least one ball of each colour is 167. 3aYg 1, A m B AYTH HWAT 167 B
Which of the above statements is/are correct? wﬁua YT H A PH-A/A TG 2/8 2
UPSC PT 2023
a) 1only a) Fad 1
b) 2 only b) $add 2
¢) Both1and 2 ) 13 2gHl

d) Neither 1 nor 2 d) a1 382




75. Let pp, qq and rr be 2-digit numbers 75. HIF #IfSIT, pp, qq 31 rr, 2-3(P1 Bl FWIMY

wherep < q < r. If pp + qq + rr = tt0, where twﬁ <q<réol PP + qq + rr = tt0, SI§l
tt0 is a 3-digit number ending with zero, um% 3-maﬁm%,%ﬂm Jifaw i

TAE,
consider the following statements :
1. The number of possible values of p is 5. at Fafefae sy ) AR s .
2. The number of possible valuesof qis 6. 1. p & HHT AT B TS 5 gl

2.q P HYT A B G316 8|
Which of the above statements is/are correct?

UPSCPT 2023  Iuydad # @ SIF-TI/A HY Tel 8/8?

a) 1only a) Had 1
b) 2only \:))/i'aﬂ 2
\_¢) Both 1 and 2 1 3R 2 g1

d) Neither 1 nor 2 d) Far13MRAE2
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78. 40 children are standing in a circle and
one of them (say child-1) has a ring. The ring
is passed clockwise. Child-1 passes on to
child-2, child-2 passes on to child-4, child-4
passes on to child-7 and so on. After how
many such changes (including child-1) will the
ring be in the hands of child-1 again ?

UPSC PT 2023

a) 14
b) 15
c) 16
d) 17

a) 14
b) 15
c) 16
d) 17
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79. What is the middle term of the sequence 79, Wz, ZY,Y.Y, XXX, X, W, W, W,

ZZY,Y,LX XXX, W,W,W,WW,_.A? W.W . .ASPTHOAUCHIE?
\%%;S/

27 UPSC PT 2023 )
Va) - -—-\'Z} a) H 2*3+L1+§+"~
! 7 / b
F L\ 5]
0 J _aax (%) g gt
d M i T d M







(1)

82. Consider a 3-digit number. 82. 3 3Pl aﬂwmwﬁiﬂml
Question: What is the number ? Y 98 SS AT e7
Statement-1: The sum of the digits of the number is PYA-1: GBI & B! BT NG DI & UG
equal to the product of the digits. WS T T .
Statement-2: The number is divisible by the sum of HYF-2: nm mmtmtmﬁ
the digits of the number.
Which one of the following is correct in respect of the m:ﬂisqﬁﬂmﬂﬁﬁq-mw
above Question and the Statements ? UPSC PT 2023 7
a) The Question can be answered by using one of a) SHUNPTIIAL, AT A A UP $YF T Abd
the Statements alone, but cannot be answered JUANT BT 1241 o §HAT g YA B
using the other Statement alone. P IUANT BT TEY feaT o WPl e
b) The Question can be answered by using either b) 9 UN &1 Iwx, a4l # & Wt U YT HT
Statement alone. mmmﬁmmm |
¢) The Question can be answered by using both the c) U &1 YA BT Y IUGNT HT
Statements together, but cannot be answered o 95dT §, ACIR K] US BYA &1
using either Statement alone. - .14 CIE:CGIR]
d) Question cannot be answered even by using Uy BT IR, S BYAT BT USHTY IUANT ISP
h the Statements together. gqﬁﬁmmmtl
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84. AB and CD are 2:digit numbers. Multiplying 84. AB CD 2-3(®l Hréﬁmil AB &I cD &
AB with CD results in a 3-digit number DEF. U ®A UR TUFGH 3-3H! St TBIT DEF WIE
Adding DEF to another 3-digit number GHI BIdl 81 DEF &I 3= 3-3(H! B TS GHI AV WIga
results in 975. Further A, B, C, D, E, F, G, H, | are UX 975 WIW gt A, B,CD,EFG,H,I
distinct digits. IfE =0, F = 8, then whatis A + B R 3w §1afE=0,F=8)\dlA + B + c Fud
UPSC PT 2023 aNTa 22 /

+ Cequalto?

6 a
b) 7 /% \/b’)/j 0)11116\)<
c) 8 c) 8
d) 9 d) 9 —

7/ S\



e, < o ———————————
CLOCK

4) Between 5 and 6, a lady looked at her 4) 5 maﬁtmwmﬁmm
watch and mistaking the hour hand for the U3 TR U3 3R I °e Bl Y§ B e It
minute hand, she thought that the time ¥ wug forar 3k I/ o7 ¥ & vt &1
was 57 minutes earlier than the correct HHY el 99Y | 57 fae ugd &, o) 9aee

time. The correct time was & fPaaTIug g I|T YT ?
\/(24 minutes past 5 \ &)~ 5 auaR 24 fiFe

b) 12 minutes past 5 b) 5awHT 12 fA=e

¢) 36 minutes past 5 ¢) 5qudT 36 e

d) 48 minutes past 5 d) 5auPT 48 fi=e




e, < o ———————————
CLOCK

5) The minute hand of a clock overtakes the 5) U® U3! &1 fi-c & Jg Wl 9HI & 76 fH=1e
hour hand at intervals of 76 min of the & 3fAvd W °e @I P& A fa«t 8, @t aagC
correct time. How much does a clock gain f& dg ﬂ'@ Tdh ﬁ’-l # fdaar aw ar 9t 99y

or lose in a day ? garai g ?
a) 198 min (loss) a) 198 fiee (iﬁ“ﬁ)
b) 198 min (gain) b) 198 fiFe @w)
& 199 169/209 min (loss) '©)199 169/209 fire (i)

d) 199 min (gain) d) 199 fiFe @)
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Unit Digit




1. Consider the following Statements 1. Fufafes sy=1 «w faar #3:

I. ‘X' is the Unit digit in the expression . 'X' TP 256251 + 36 528 +7354 H THIS
2562514 36528 4 7354, 3P g

IIl. ‘Y’ is the unit digit in the expression II. 'Y' fH Sdvi® # THIE 3P 7: 49237 x
49237 x 3995 x 738 x 83 x 9. 3995 x 738 x83 x9

a. XandY are Prime numbers. a. X3MRY AU IS 2|

\}./Xias equal to Y. \b X, Y& TR B

c. X equals to ‘5" and Y equals to 0 -y Sy & TRIER % AR Y, '0" (A &

(Zero). &R B

d. Xis not equal to Y d. X,YP RETgl gl



2. In the expression 13%, the value of unit 2 TP 1 ’g{ﬁ THIS 3P BT AE g d & 22
digit.
. Pdd o9 x 9H ﬂ Gl mﬁ 3% faum
. Only when x is even, the unit digit will Uil
be odd. Il. 9 x, 4 T U g, af IPT§ 3P ed 1
II. When x is a multiple of 4, the unit digit Sl
will always be 1. . W9 x=7, TPTE 3P 4 T
Ill. When x=7, the unit digit will be 4. IV. W9 x=21, THTE 3P 2 BN
IV. When x=21, the unit digit will be 2. a. $ad HYTI1 T 11 TET &
a. Only Statement | and Il is correct b. BadSYT I 3T 1N 'ﬂ'ﬁ%l
b. Only statements Il and Il is correct \;/%dﬁ FYT 11 Tl B}
\/«6nly Statement Il is correct d. FIAFYTI aﬁw v '\!r('ﬂ ?l

d. Only Statement | and IV is correct



3. What will be the unit digit, when product 3 g wey 10 WIPpa w@MR F UAEE B

of first 10 natural numbers is divided by 100 ¥ fAurfora fFar we ot 318 s &
100. g
a.0 a. 0
b. 2 D, i
e 9



2,
4. The Unit digit of the Product (4387)%5 X 4. U (4387)245X (621){3?[33'[{' 3@ ‘A’ B

(621)*is ‘A’ (x is a positive Integer) (x TP YATHD Tﬂ'h? %)
Statement | - A will be Constant regard less HYF | - A RRIF 8, T8 x T PO Wt 7
of values of x '@l
Statement Il - A Will be different for YT Il - A 'x' & At a4 & f%m fim
different values of ‘x’ ST
\}/{ly Statement | is true. \ 3 ¥Ta T 1T B

b. Only Statement Il is true. b. $ad HYT Il TI &l

c. Both the Statements are true. c. I YT I '?-I

d. None of the Statement is true. d. @1 ¥t Y99G T8l 2



5. The Unit digit of the product of all the 5. 1 3fi¥ (11)" & dtg Bt It Ut T=M3H &

Prime Numbers between 1 and (11)"! UG A T 3PS AP T 82
a.2 a
b.7 B, AL

57 o

d. 1 d 1



THANK YOU!



